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CRa(EALTT(LSB) » Y BEy - Mok 7

(A) R Z A1(Sum of Product)Zmr= Y =2%(0,2,4,5,6,7)

(B) fE=#ERI 2 f&(Product of Sum)F R~ Y =T1(1,3)
©) B tmmERRAY = A+C

A_|
s— >
c—

(D) —) >

A
A
g_,——:}

R(M)

A | B | C]|]Y
0 0 0 1
0 0 1 0
0 1 0 1
0 1 1 0
1 0 0 1
1 0 1 1
1 1 0 1
1 1 1 1

5B Bl =

BREHE
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> HERET
> mERE= -

HiR 4 BB S 4R Bt

- n.ﬁ E
CTT | CTT
BERE | SR

el B 1171 13.07  20.00 | 55.18

=

. 062 023 276 | 96.40 | 000 055 | 0.76
(GEE L)

(20|

. 2107 2566 33.01 | 2011 | 0.14

GEE L)

/6
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i hll FE
%EJE =3%4 |:|_|_;§;I'!:_I;| %WU BRGE

42.

AGEE T30 055540 - 4278
BREERE T CESEAEBE R (Local variable) M1 2 E H(Global variable)VEEE(LIER - #RE 7 TIINVES -

1 #include <stdio.h>
2 1Int sum=1, x=10;
3 int inc(int xin){
4 INt sum=2;
5 sum = sum + XIn;
6 XINn++;
7 return (sum);
8 1}
9 Int main(){
10 Int sum = 3;
BRIATTSR2 ~ 17574 ~ LARATHRI0AY BB sumIR0 - THaEER? 11 Sum=1nc(x);
(A) TTHR200 sumB SIREE » 1THR4HY sumZ [EIR S8 12 printf("%d, %d", sum, X);
(B) 175020 sumZ EIREERY > 1T5740Y sumE IR E 8 13 return O;
(C) 1797268 sumAI1 797106y sum#ER & 5 E 8 14 }

(D) 75528 sumFI{T 57 10Ky sum#D & 2 3B B8y -



> HBEEHT

> i85 Bl i

R EBR S

CTT CTT
- BRI

”55 TR

15.78

17.92  13.07

=
(EELLH)

£43#
(EE L)

90.55 2.14 2.53 4.78 0.00 0.53 0.70

2044 § 26.87 3248  19.97 0.29

/8
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5B Bl =

R TR RE D Rt
07.
[28 17 52 571 28 12 {5 1 T TN ( SPT ) BRI - T 3{r[ & IEHE ?
(A) TEM R fEAR e S T
(B) SCLKH {13

(C) EHYMOSIEREITREEAYMISO
(D) EEEYMOSIFEREIREERYMOSI
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> HERET
> mERE= o

R EBR S st

CTT | CTT
B | o

P 1398 1736 47.32 | 21.28

= 7l

: 743 957 5836 | 2465 | 000 021 | 0.07
(REE L)

1§54

: 16.92 2417 4099 | 17.79 | 0.14

(EE ELA)
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BN EREERETRES) izt

30.
W& (F) T~ Z FEE Bk (Debounce) BB B

%rﬂﬂﬁﬁQTEfﬁﬁﬁ%ﬂEfﬁ%Zm%ﬁlﬁfmﬁ » A TSR AR J7 SR BE Ry ] A B 4

46 A BRI ALTIRE 7

(A) ABENAND > BENAND
(B) A&NOR » BENOR
(C) ABNAND > B5NOR
(D) AENOR > BENAND

‘& Push ButtoniZ it 1% NI 5AF &

+5V

Push B l]ﬂ'[!ﬂ

----------

B Q
(11)
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> BERMBEZ ﬁssgufg

R & BB o s

s | CTT | CTT
= | HE (&R
P B 30.14 | 26.01 | 27.85 1591
=7l
(ERELLAI) 4412 | 36.18 | 1548 411 011 026 | 0.14
£+
(B H ) 19.86 | 21.80 | 37.02 2114 0.14
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g5 Rl
I TE S AN F st

45.
PR T AECE SR SRS T E AV ER T s slYAE - SR
TR MIE RENFHITER 7

1 #include <stdio.h>

2

3 i1nt main() {

4

5 INt a=0x0a;

6 Int b=0x05;

Z

8 1If(a & b)

9 printf(“a&b=%d\n”’, a&b);
10 else

11 printf(“a&&b=%d\n”’, a&&b);
12

13 return O;

14 }

(A)a&sb =1 (B)assb =0 (C)asb=1 (D)a&b=0 83



> HBEEHT

g ﬁﬁﬁﬂurg

HE B 4 2O S 47 T i

CTT CTT
- EEREIF

31.88

22.54  21.10

=
(EE L)

£43#
(EE L)

34.72 § 32.70 1052 21.95 0.11 0.24 0.18

16.58 § 30.40 33.01 19.57 0.43
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